PGC — Boby

Model E36

BOM ID | Number Qty | Description

1 327845100 | 1 LH, BAG EAR WELD ASSY

2 327845200 | 1 ASM, RH BAG EAR

3 327845700 | 1 ASM, C330 & S130 SWEEPER

4 049383700 | 10 | NUT, FLANGED M8

5 12860100 |3 RIVET 4.8 X 16MM ALLOY POP

6 148005200 | 1 PGC, AIR CHUTE RUBBER

7 149498301 | 5 SPCR, NYLON SPACER, 8.2 X 18X 40

8 149591900 | 1 LH, PGC PLASTIC SIDE COVER

9 149594000 | 1 RIGHT, PGC SIDE COVER 2015 V2

10 183010300 | 2 SHAFT, QUICK RELEASE BALL END

11 183025600 | 2 SPCR, SWEEPER BALL JOINT

12 449877000 | 1 SWITCH, PLUNGER NO/NO (6410.02)

13 528007500 | 1 GROMMET, 22mm Dia.

14 541113000 | 1 STRIP, DECK FLAP

15 542031600 | 1 BRKT, PGC SWITCH MOUNT

16 028663200 | 5 M8 x 70 Hex Bolt HT Grade 8.8 Zinc Plate

17 02912200 |2 M5 x16 Hex Screw HT Grade 8.8 Zinc Trivalent Clear DIN933
18 02825900 | 3 M8 x 20 Hex Screw HT Grade 8.8 Zinc Trivalent Clear
19 028001000 | 2 M8 x 16 Hex Screw HT Grade 8.8 Zinc Plate

20 04852100 |5 M8 Hex Full Nut Zinc Trivalent Clear

21 04885900 | 2 M5 Nylon Insert Nut Din 985 Zinc & Clear

22 08819800 |5 M8 x 25 x 3 Steel Washer ISO 4759-3-C ZINC & TRIVALENT CLEAR
23 088003700 | 10 | M8 Washer Form C Steel Zinc Plate

24 08911500 | 4 M5 Washer Form A to DIN 125 Steel Zinc Trivalent Clear

16

26



PGC — GuAaRDS AND HANDLE

Model E36

2 e
o
19
BOM ID | Number Qty | Description
1 028001500 | 4 4.8 x 16 Self Drilling Hex Head
2 089418600 | 4 WASHER M8 x 25 X 3 UNPLATED
3 148996800 | 2 STUD, 1/4, TURN SLOT HD DZUS
4 148997500 | 1 GUARD, PGC BELT - C350H
5 149499900 | 2 RECEPTACLE, DZUS, DART
6 149500000 | 2 RETAINER, WRAP DZUS BLACK
7 178966302 | 1 HANDLE, A & C SERIES SWEEPER LOCKING
8 183003800 | 2 TRUNNION, BELT TENSION
9 30149801 | 1 LUG, LH SWEEPER LOCKING
10 30150300 | 1 RH, PGC LOCKING LUG
11 307024500 | 2 SWEEPER LOCKING HANDLE PLATE
12 313003500 | 2 ROD, TENSION SWEEPER BELT
13 549008900 | 1 GUARD, C330 & S130 SWEEPER SHAFT
14 549122400 | 1 BRKT, PGC GUARD
15 018000300 | 2 M6 x 20 Hex Screw HT Grade 8.8 Zinc Trivalent Clear
16 028002900 | 2 M6 x 25 Hex Bolt HT Grade 8.8 Zinc Trivalent Clear
17 04852100 |4 M8 Hex Full Nut Zinc Trivalent Clear
18 049383800 | 4 M6 Nylon Insert Flange Nut DIN 6926 Zinc Trivalent Clear Grade 8
19 04920100 |2 M8 Ni-Lock Nut DIN 985
20 089422200 | 4 M6 Washer BS 4320 Form B Steel Zinc Trivalent Clear

27




PGC — SWEEPER ROLLER

Model E36

13 | BOM ID | Number Qty | Description
i 1 327171800 | 1 ASM, HANDLE , SWEEPER ROLLER HEIGHT
' 2 327845300 | 1 ASM, MINI PGC FLAP PLATE
3 327845401 | 1 ASM, ROLLER C-SERIES MINI PGC
4 327845500 | 1 ASM, ROLLER CARRIER- MINI PGC
11 7 5 049383700 | 2 | NUT, FLANGED M8
6 088002900 | 1 WASHER-FLAT-STL, SINGLE COIL M10
7 10811600 |2 BRG, 6203-2RS
8 14804801 | 1 LEVER KNOB
9 183024301 | 2 BOSS, ROLLER PIVOT
10 183838400 | 1 SHAFT, ROLLER MINI PGC
11 31330002 |2 SPCR, SHAFT , SWEEPER
12 52899200 | 1 CABLE, ROLLER C-SERIES MINI PGC
13 018003200 | 2 M8 x 40 Hex Bolt HT Grade 8.8 Zinc Trivalent Clear
14 028001000 | 2 M8 x 16 Hex Screw HT Grade 8.8 Zinc Plate
15 028002300 | 2 M10 x 25 Hex Screw HT Grade 8.8 Zinc Trivalent Clear
16 049383800 | 1 M6 Nylon Insert Flange Nut DIN 6926 Zinc Trivalent Clear Grade 8
17 088002400 | 3 M10 Washer Form A Steel Zinc Trivalent Clear
18 088003700 | 6 M8 Washer Form C Steel Zinc Plate
19 06855200 |2 M3.2 X 12 COTTER PINS STEEL ZINC PLATE, DIN 94

28



PGC — PuLLEYs AND BELTS

Model E36

BOM ID | Number Qty | Description

1 20811500 |1 ASM, JOCKEY PULLEY

2 32727600 |2 PULLEY, 3" UNKEYED TRACTOR SWEEPER

3 401001500 | 1 PGC, PULLEY BEARING KIT

4 028002300 | 2 BOLT, HEX HD M10 X 25 GRADE 8.8 ZINC TRIVALENT CLEAR
5 049383700 | 4 NUT, FLANGED M8

6 08819901 | 2 WSHR, DOME 1 3/4" x 3/8" x 1/8"

7 10811600 | 2 BRG, 6203-2RS

8 183838500 | 1 SHAFT, IDLER C-SERIES MINI PGC

9 228000200 | 1 BELT, PGC A51

10 22832800 |1 BELT, PGC MK 4 - C SERIES

11 27106600 |1 HOUSING, BRG SMALL

12 30121901 |1 PLATE, SWEEPER BELT TENSION

13 307025600 | 1 HOUSING, PGC PLASTIC LID IDLER

14 31306202 | 2 SPCR, PTO END

15 31350402 |1 SPCR, SWEEPER JOCKEY

16 31351100 | 1 SPCR, IDLER PULLEY TOP

17 02912200 | 6 M5 x16 Hex Screw HT Grade 8.8 Zinc Trivalent Clear DIN933
18 02825900 |3 M8 x 20 Hex Screw HT Grade 8.8 Zinc Trivalent Clear
19 018001800 | 1 M8 x 50 Hex Bolt HT Grade 8.8 Zinc Trivalent Clear

20 04885900 |6 M5 Nylon Insert Nut Din 985 Zinc & Clear

21 08911500 12 | M5 Washer Form A to DIN 125 Steel Zinc Trivalent Clear
22 088003700 | 3 M8 Washer Form C Steel Zinc Plate

29




PGC — BrusH

Model E36

BOM ID | Number Qty | Description

1 10811600 1 BRG, 6203-2RS

2 14832900 |2 PGC, BRUSH MOULDING BOTTOM

3 14833000 |15 | BOSS, PGC BRISTLE HOLDER

4 14834100 |2 BRUSH MOULDING SMALL TOP

5 14898101 |45 | PLASTIC, PGC YELLOW BRISTLES NON WEB

6 174503500 | 1 TUBE, MINI PGC BRUSH STOCK

7 27106600 | 1 HOUSING, BRG SMALL

8 30117500 | 1 SWEEPER BEARING COVER

9 31323904 | 1 SPINDLE, BRUSH STOCK

10 32121801 | 2 SWEEPER SLINGER

11 018004000 | 2 M6 x 45 Hex Bolt HT Grade 8.8 Zinc Trivalent Clear

12 02912200 |3 M5 x16 Hex Screw HT Grade 8.8 Zinc Trivalent Clear DIN933
13 04885900 |3 M5 Nylon Insert Nut Din 985 Zinc & Clear

14 04920500 | 2 M6 Nylon Insert Nut Type P Din 982 Zinc Clear Plate

15 089422200 | 4 M6 Washer BS 4320 Form B Steel Zinc Trivalent Clear
16 08911500 |6 M5 Washer Form A to DIN 125 Steel Zinc Trivalent Clear

30




Il COLUNTCAX B

Ariens Company Limited

Countax House, Great Haseley,
Oxford, OX44 7PF

Telephone: +44 (0)1844 278 800

www.countax.co.uk

W An Oﬁm Company Brand


http://www.countax.co.uk/

	PGC – Body
	PGC – Guards and Handle
	PGC – Sweeper Roller
	PGC – Pulleys and Belts
	PGC – Brush

